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HINDI KNOWLEDGE & WRITING ABILITY / 2l aRsi9 ¢d G ARl

‘AMENDMENT’ & foru &l fa=il

ST &
(A) ¥
(B) ST
(C) v
(D) FHTRIEH

RATR' & FRAT S 87
(A) fagamafa

(B) S/I<q

(C) gereirard

(D) W<

=t 3 e &1 & B 87
(A) STIIAN UG

(B) sgierr Frdt e

(C) farr

(D) AT el

I HEl AT HEHT B g &

(A) fheIRITe TAm
(B) F&ER AT ol
(C) W

(D) WrEM e

Q5

I fadT B g7
(A) STIYHR TG
(B) Hfrefreror a1
(C) \MENl R fasTar
(D) AETedl qat

PSG1 5 f&d T AT BT UgdR YB

Q6

gl & SR QY | e i ol |
Rfed NSy b B BI? IR FTg—Tf

BT GE T ST B AT BT e A & |
a1 S9a g & I IR U™ ehe
21 O @ gol ¥ VR, o9, 9 iR
URTEHH 1 UT B BT | AT JATHT Bl
TSIl 9 1 F YaTe] UTed Bl © | od=a—Ysll
B W A BT HI 8l Ahdl © | FHIS

BT UTAT BRIl G DI IRT ST A
% YA g<d, shue w4 SR fAarge
31 ¥ Aebetepr decll & Id T8l ST |
GG P Wdl Pl S AR Tpfeard
P! § AR g8 ITH Hel W Rl & |

fhad Rfed wsa fod &M Br?
(A) w& Sl A

(B) 515 o A

(C) g o+ &

(D) f3rféra =i &
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Q8

Q9

Q10
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T BT e R
(A) TSI

(B) TR

(C) <1

(D) <9

ehel’ BT M &
(A) T

(B) Wetaril

(C) wrie

(D) et

GG B Wdl Pl SRR AR Tpfoed’
TR BT 3

(A) ST DI GEIHAT T

(B) Sl &l GEHY ]

(C) Tdl @ Rars &=

(D) ST &I FHhe H ST

et & " =R &
(A) =
(B) ¥
© T

(D) ¥

Q11

Q12

Q13

Ql4

T # aTaRer @9 diF 9T &7
(A) T
(B) o
©) @

(D) &

=T # 3T S I W 2?
(A) @
(B) 7
©) =

(D) s

=1 9 "y 9of 319 w1 7?
(A) o
(B) @
€)=

(D) <

=T ¥ 3fssg auf i T 87
(A) &
(B) 3
©) g

(D) S
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Q15 = % I o< ®

Q16

Q17

Q18
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(A) Urerm
(B) Sterst
C) R

(D) Tt

eI’ & IfY fawwe g

(A) 98 + 39
(B) #Af + S9
(C) a1 + Id

(D) w&l + 39

TS’ § TN ©

(A) gded

(B) a7
(C) =G

(D) acgey

AT | YA ©

(A) 8t
(B) &
(C) amT

(D) &

Q19

Q20

Q21

Q22

AT H U ©
(A) a1
(B) =
(C) a1

(D) <

f & P9 97 I dodd 27

(A) &=
(B) eI
(C) T

(D) =R

=T & I 9T vleg dgq 27

(A) I
(B) =R
(C) S

(D) I

f & P19 @7 Iec I 28?

(A) TR
(B) ST
(C) geal
(D) BRI

SET-FG



Q23

Q24

Q25

1 § @19 a1 oreg faqel &7 Q27
(A) fepe
(B) #e

(ORUEN

(D) T

e & s o © Q28
(A) =11

(B) Tdem

(C) T

(D) =Xt

e o g 9ee @ Q29
(A) i

(B) T

(C) \wrg

(D) B

Q26 o= # fagmor vt & Q30

P-6

(A) ofsdud
(B) sfaa
(C) H3RaT

U)REENES

= o ool e &

(A) ST
(B) THehT
(C) RRmT
(D) &

1 ¥ o &
(A) SR

(B) S1%b

(C) STaT

(D) =T

TefY' BT T
(A) TR

(B) #I9

(©) I<=

(D) faz

Sifeet’ &1 fderrs g
(A) A=

(B) @fcd

(C) gfea

(D) Tet
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Q32

Q33

Q34 = ¥ ga-ll @l gfte & Yg 7= &

P-6

T eH AN @ oY ue v

(A) ™
(B) <&
C) W

(D) M

- g g7 &1 |8 o &

(A) Rga—_9
(B) TWg—fdadq
(C) gIe—RE

(D) &IUER—TRIE

=T 5 B9 9T o1s JMdhIid &7
(A) Hred

(B) Jxi®

(C) iR

KISED

(A) 1
(B) ufRefor
(C) 9=

(D) grerr

Q35

Q36

Q37

Q38

=1 # o+ 9 gfe 9 erge ww §
(A) UefR®
(B) g
(C) =

(D) WA

1 H SIHRYT BRS BT WRET DI AT
87

(A) W

(B) 71

(C) @1

(D) A

T | gfoeiT eres I AT 87
(A) &

(B) e

(C) &=

(D) Jfa

1 5 ENfelT ot &9 91 87
(A) 59
(B) TR#T
(C) =@
(D) et
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Q40

Q41

Q42
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fhAPT TANT Aad dgadd H Bial &7
(A) T
(B) -
(C) ot

(D)

T # Y[ddIal &7 IQTERT &
(A) # ST £

(B) XM R AT o |

(C) I8 3 3T 7|

(D) 98 Y¥Id U |

1§ Wraarg 2

(A) 8- Y% Uedl ® |
(B) 2™ U= forgar B |
(C) AIE | 3T &l SIre |
(D) 9= for@r SIar 2|

= o I a1 g B a1y 27

(A) fagam w9 S8 goll S 2 |

(B) 3BT elgd! AU &I AT AT
g

(C) g8 Y&id H B ol |

(D) ST HaRT §aAT, 9 BH ANT §Tex Y |

Q43

Q44

Q45

Q46

H fagTery ST 2 | 9T H 37Yg 379
&

(A) #9

(B) fagarera

(C) S

(D) B

ge e B 91 67
(A) |
(B) ?
(C) !

(D) ;

SHTAATT B ST HeTeR BT ALl 3Fe &

(A) 39T BT I
(B) 98d WR HRAT
(C) AT DA

(D) 3D A AT TSI

Wraedl 8 B o HE TN &
(A) O 9RE BT

(B) U &R T

(C) :RF R @ B+

(D) -t FR R G
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Q48

Q49

Q50

P-6

IR US g B 379 Dal | B AlDITHRT
BT EI 3 &

(A) BH & IR Bl &l fHerdn

(B) ST & HRAT o<1 el Aol
(C) ®H 3R Bl HT BIs G el
(D) B BRI, Bl I FTBT 7 BRI

B A 3 & forg e ArIfad &
(A) drei STrferdl € 3

(B) Ul STferdl axTeR &l Bl

(C) ! IR 3R F{Y 4 ST

(D) 7@ 3R TE—IB

AT T RAT & AT TG HE]
&

(A) RT&TIAR

(B) #rargarg

(C) ARTIaTS

(D) =r&rgars

Fof' o=l @ e Ul & Sfcvid 27
(A) Ferel fa=

(B) T fe=

(C) uf¥ert fo=

(D) JIoTRerHT 2wl
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Q51

Q52

Q53

GENERAL INTELLIGENCE TEST / 9 gfg uieror

Replace the ? in the given figure with a
suitable option from the following figure

by observing the relationship between

figures (A) and (B).
<& & [cams
“—»|e—»|laa»| 9
- @ |mmn .
(A (B) (C) (D)

(1) (2) 3 @@ (5)

(A) 1
(B) 2
©) 3
(D) 5

Select the figure that is different among

the following figures.

BN
A B C D E

(A) A

(B) B

© C

(D) D

Select the figure that is different among

the following figures.

0358 (o) ko (=

A B C D E

(A) A
(B) B
©) C
(D) E

Q51

Q52

Q53

o (A) 3R B) & &9 & Hadl B

TR Y MY F Bl IuGH [Adhed &
1T g5l ?
=] & [camo
“«—» e || 2
- & |mm|
(A) (B) (C) (D)

| ] ==l mil = ] = |
€9 | € | €9 | €9 | €66
(m m Jjm = J] w w)] = mjis = |

(1 (2) (3) 4) (5)

(A) 1
(B) 2
© 3
(D) 5

=1 rpfodl & 9/ ol Smpfa @t

Y

(A) A
(B) B
(C) C
(D) D

Al O]

C D E

=1 erfbsl & I STT—3NT 3hs
BT TIT PN |

P [ | [

A B C D E

(A) A
(B) B
©) C
(D) E
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Q54

Q55

Q56

Q57

P-6

Fill in the blank with the correct option

to complete the series.
ALBC,CLDC,  ,GLHC
(A) OLPC

(B) ELFC

(C) LLMC

(D) KLLC

Fill in the blank with the correct option
to complete the series.

AZA,BWD, CRI, DKP,

(A) ECX

(B) EYB

(C) EBY

(D) EXC

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

MAGIC : BHFZL :: CABIN:
(A) MAHBZ

(B) MHABZ

(C) MAHZB

(D) MHAZB

In a certain code language, if pink is called
white, white is called yellow, yellow is
called red, red is called green, green is
called black, black is called violet and
violet is called orange, then what would
be the colour of human blood?

(A) Red

(B) Green

(C) Yellow

(D) Orange
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Q54

Q55

Q56

Q57

ST DI YRT DR & oY el [debed A
Rad oI &1 X |

ALBC,CLDC,  ,GLHC

(A) OLPC

(B) ELFC

(C) LLMC

(D) KLLC

HGET BT R B & (oY eI fdbed A
R oI &1 X |

AZA,BWD, CRI, DKP,

(A) ECX

(B) EYB

(C) EBY

(D) EXC

I fdbed &1 T4 BN ST AR Ug |
31 I AR HadT 2 O UeR gav
US U UG 9§ e B |

MAGIC : BHFZL : : CABIN:
(A) MAHBZ

(B) MHABZ

(C) MAHZB

(D) MHAZB

v ARFd @ie wr 4, afe el &l
AHE HET ST &, ABE Bl Yl Bl
SITaT ®, Uil &l ATl dEl Sl €, ol
Pl BT BB ST ©, B Bl Bl Hal
ST 8, BTl BT S+ HEl el § &R
T B AR HET ST B, A AEG e
BT foa 1 F1 BRI?

(A) offel

(B) &1

(C) drem

(D) TR

SET-FG



Q58

Q59

Q60

Read the given information and answer

the question that follows.

‘P Q’ means ‘P is the mother of Q’;
‘P $ Q’ means ‘P is the husband of Q’;
‘P # Q’ means ‘P is the sister of Q’;

‘P ~ Q’ means ‘P is the son of Q’.

X ~HRD $Y represents what relation of
Y with H?

(A) Mother

(B) Father

(C) Father-in-law

(D) Daughter-in-law

In a joint family, there are father, mother,
3 married sons and one unmarried
daughter. Of the sons, two have 2
daughters each and one has a son. Find
the ratio of the total number of female
members to the total number of male
members in the family:

(A) 5:9

B) 9:5

(C) 8:5

(D) 5:8

Two statements are followed by two
conclusions. Assume the facts in the
statements to be true and decide which of
the conclusions follow(s) from the
statements.

Statements:
1. Some papers are books
2. All books are notes.

Conclusions:
I.  No paper is a note
II. Some notes are papers

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both conclusions I and II follow
(D) Neither conclusion I, nor II, follows
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Q58

Q59

Q60

T TS BRI BT YD Ug 3R Te1
P IR < |

‘PT QT 31 ‘P, Q & H &

‘P$ QT 31f ‘P, Q BT Ul 2%;
‘P#Q’ T 371f ‘P, Q ¥ 981 ©7;
‘P~Q &I 34 P,QH IF 7.
X~HTIDSYHY & H & AT 1
ey 87

(A) #f

(B) faar

(C) IR

(D) 98

T Hgad uRaR #, far, #f, O faarfza
g 3R U sifdarzsd g B 1 gA H Qo
S-S IR B & Uh T 5 |
URIR Bl AfZe AT Bl ol AT
3R URIR & Yo AR Bl ol FAT
BT U ST DITY |

(A) 5:
B) 9:
(C) 8:
(D) 5:

o L L O

3 dUEl B 91g of feey Ry I §
AT ¥ o T qeat B GE A @ik
g of f& B9 9 frpy deEl @1
STRIRYT T / B & |

B :
1. B IR D ¢ |
2. 9 gWIS Aled ¥ |

oy -

I ®Ig IR U Aic &l 2|

. §B Alc IR g

(A) BIe Fepd 1 STTERT R 2 |

(B) adt fepd I SRV &_all 2 |

(C) =Py 13T 11 SFT SR B
g

(D) 71 @ =Ry 1R 7 & frpy 11

STTARYT B B |
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Q61

Q62

Q63

Letters of a word have been jumbled up
and numbered. Choose the option which
gives the correct order of the letters as
indicated by the numbers to form the

word.
I, A, D, O, H E, N, S
1 2 3 4 5 6 7 8

(A) 3,2,5,6,8,1,4,7
(B) 2,3,5,6,4,8,1,7
©) 2,3,5,6,8,1,4,7
(D) 2,3,5,6,8,4,1,7

How many pairs of letters in the word
‘NIGHTMARE’ have as many letters
between them in the word as in the English
alphabet?

(A) 1

B) 2

©) 3

(D) 5

In the following question, a statement,
followed by two arguments numbered 1
and 2, are given. You have to decide which
of the arguments is/are ‘strong’ with

respect to the statement.

Statement:

To fulfill the energy requirements, India
should make efforts to make use of solar
energy.

Arguments:

I.  Yes, the energy produced in India is
mainly exhaustible.

II. No. To set up solar energy plants, it
will requires a lot of capital, which
India lacks.

(A) Either I or II is strong

(B) Neither I nor II is strong

(C) Only argument I is strong

(D) Only argument II is strong

Q61

Q62

Q63

U G B IMeRT Bl ragaferd fasar T
2 3R S fofv ofp &y I | 59
fa®en @1 g, S wes BT AT BRA
HH Y& BT B |

I, A, D, O, H E,
1 2 3 4 5 6
(A) 3,2,5,6,8,1,4,7
(B) 2,3,5,6,4,8,1,7
(C) 2,3,5,6,8,1,4,7
(D) 2,3,5,6,8,4,1,7

N, S
7 8

‘NIGHTMARE’ 3 ¥ S 31eR| &1 H&
o1d HINT e 6 Sad 8 iR ©
1= el aofaren § $9a d9 €
(A) 1

(B) 2

© 3

(D) 5

f=ferRad ue9 # U ®U9 & 91 qr
TP 1 3R 2 faw U & | MUdT Ig a
BT B {6 HoF & Fag H BT 9

qdb Hordd 2 |

PBUT

ol B AMELIHAR BT GRT B D
foru, RGBT AR Toll BT ST B
BT TN HRAT AR |

b -

I &, 9Rd 4 Sanfad ol ge&d: AfAd
=

II. 781, AR ol 935 wfid oA &
forg agd &<t goll @1 sragaedr
grf, R IRT H B 7|

(A) T% 191D 1 9o9d 2

(B) 7 I 13IR 71 & I #9gd &

(C) Bad d® 17919 &

(D) ®aaT T 1 7o1Gd &
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Q64 Study the following information carefully

and answer the question given below.

A software company has decided to recruit

engineers. The following criteria is to be

applied.

A candidate must:

(1) be an engineering graduate with at
least 75% marks in graduation and
80% marks in HSC.

(i) have work experience of minimum 2
years.

(iii) bereadyto sign a bond of three years.

(iv) not be more than 28 years and not
less than 21 years as on 1.2.2017.

However, if the candidate fulfils all the

above criteria except:

(a) (i), but has obtained 50% in
graduation and 70% in HSC and has
at least three years work experience,
the case may be referred to the
Director.

(b) (iii), but is willing to pay an amount
of X1 lakh if he is required to leave,
the case may be referred to the
President.

(c) (i1), but is a computer engineer, the
case is to be referred to the DGM.

In the question below, details of a

candidate are given. You have to take one

of the courses of action listed in the
options based on the information provided
and the conditions and sub-conditions
given above. The reference date is

1.2.2017. You are NOT to assume

anything other than the information

provided in the question.

Divya is an Mechanical Engineer and has

been working as an Assistant Engineer for

the past one year. She had scored 82%

and 87% marks in graduation and HSC

respectively. She has just completed 25

years of age.

(A) The candidate is to be selected.

(B) The case is to be referred to the
President.

(C) The case is to be referred to the
Director.

(D) The candidate is not to be selected.
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Q64 FrHfIRIT SIF&HRI BT LAFYdd Ug 31R

39D I o T g B SR o
Th ATFCIIR HUAT F Sol=1a=I Pl 9ol
BT Bl fhar 2|
frfoRaa Amgs o fod T €
TS et :

() SONFART Fdd § BF | 5 75%
IhT MR TATAAL H 80% 3T B
Ty Sol T @Ry |

(ii) &¥ A HF 2 a9 BT BT IIHT BT
=RV |

(iii) T 99 & df~s W SRR A ©
foT IR 8T ARy |

(V) 1.2.2017 Bl TG 28 qY N A 3IR
21 9§ ¥ HH T BT a1V |

gTofife, afe Seigar fa=faRad &r

§|5qﬂ S | AFGS! BT GRT Bl

(a) (i), oifded F1dd 7 50% 3R U=
AL H 70% 9T By € IR BH
A FHH O a9 BT BRI (W ©, al
9 HHel BT Qe ®f Hefid fhar
ST Hepall 2 |

(b) (iii), Afpd B FHAER | U=
BIST R T 1 AR BT IR BT YA
B DI IR T, AT & Bl
Tefia fear o Aadr 2 |

(c) (ii), AT Th YR oM B,
AT SILSN.TH. ® Fafid fear S
ehdTl 2 |

T faw U yeq H, SHGAR &7 faavor

T a7 B | UBT U= & TS TR

IR SWRIFT I I SI—IAT B IR TR

fadhcdl § gdldg BRATS H I Ud Bl

Y| ded fadie 1.22017 © 1 3MUd!

geq H ] Mg SFGNI B IFATdT 3

fosfl 1 o1 R fIaR 98 BT 2

e e fafad SolfRR © R fUwal

U I¥ § Udh HEID SoilR & w0 H

P B BT T | I H1dd AR T

A H HEIT 82% 3R 87% b T

P o1 | IET onfT 25 AW T IH qUT Dl

=

(A) SHIGIR BT == fhar ST =iy

(B) SI® AT DI 3ge] & U Woll
ST 18T

(C) ST D AM I Qs & URT Aol
NIEIRCIEY

(D) SHIGAR &1 T A2l fhar ST

LR
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Q65

Q66

P-6

Ashwini has five squares with different
patterns. However one of the squares is

not like the other four. Choose the odd

one.

(A) 1

(B) 2

(C) 4

(D) 5
s C'-v.“ [ P ! =5

& o \
211

Observe the above graph which gives the
information of the results of grade X and
XI of a particular school over the years.
In which year did both the grades perform
the best in that school?

(A) 2008-09

(B) 2009-10

(C) 2005-06

(D) 2007-08
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Q65

Q66

e & ur fafeet e arer uta ot
2| Beifes 37 I § 9 U@ o AR
G FHE 2 B | 9 fawH 9 &1 a9
P |

+

(1)

<

()

=

(2)

EIH

(4)

(3)

(A) 1
(B) 2
©) 4
(D) 5

Scale : 1 sq. unit = 5%

Resulis in %
spesEs

BRBRLH

STgd IT6 BT FRewr xS e
EB Nl P o U fagared & dar X
3R XI& aRMH & ISR T 2 |
e ad 9 ST Perell 7 39 fagarery |
IS Yagie fbar or?

(A) 2008-09

(B) 2009-10

(C) 2005-06

(D) 2007-08
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Q67 Which number would come next in the Q67 r=IfelRad oA H STel TR B AT

following sequence? BRMT?

12, 33, 96, 285,852, 12, 33, 96, 285,852,
(A) 2355 (A) 2355

(B) 2553 (B) 2553

(C) 2535 (C) 2535

(D) 5235 (D) 5235

Q68 Which number would come next in the Q68  FHfIRIT o Iehd H SFTell WA DI 1

following sequence? BRAT?

4,9,26,105,524, 4,9,26,105,524,
(A) 1345 (A) 1345

(B) 3145 (B) 3145

(C) 1354 (C) 1354

(D) 3154 (D) 3154

Q69 Which term would come next in the Q69 frfoIRad o gehH H DI AT Wea WA

following sequence? BITT?

B2, F§,J32,N128, B2, F§,J32,N128,
(A) R256 (A) R256

(B) R512 (B) R512

(C) R1024 (C) R1024

(D) R1204 (D) R1204

Q70 Which letter cluster would come next in Q70 fr=foiRad I gehd H SFTAT 3R HE

the following sequence? DI AT BATTP

BAC, CAB, DAE, EAD, BAC, CAB, DAE, EAD,
(A) GAF (A) GAF

(B) FAG (B) FAG

(C) AFG (C) AFG

(D) GFA (D) GFA
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Q71

Q72

Q73

Study the following alphanumeric
arrangement and answer the question the
follows.
@49*%49%23%$21577935=85
256D185?797262425831624
How many times is the number 2
immediately followed by an odd number?
(A) 2

(B) 3

€ 4

D) 5

Study the following numeric arrangement
and answer the question that follows.
629 812 372 419 294 989 767

If 1 is subtracted from each odd digit and
1 is added to each even digit then which
of the following numbers in the newly
formed sequence will be the second
highest?

(A) 903

(B) 898

(C) 263

(D) 738

If “x’ stands for ‘addition’, ‘=’ stands for

‘subtraction’, ‘+’ stands for

b

‘multiplication’ and ‘- ’ stands for
‘division’, then

120+ 12-3+4%x2-2+1=7?

(A) 477

(B) 447

(C) 7147

(D) 774

17

Q71

Q72

Q73

fr=IfeTRad Tem=ARS HH BT T
X SR 7 el BT IR < |
@49*49%23821577935=85
256D185797262425831624
AT 2 & 918 Yo faud w1 fha= IR
3T &7

(A) 2

(B) 3

(C) 4

(D) 5

frfaRad Feamdd 9 T IgT B
3R 1 oAl &1 IR <

629 812 372 419 294 989 767

Ife 1 Ud® fIwH 3fw | gl AT ©
IR 1 UAS |H 3% H ST I & ar
a9 T orgepd & 1 | 9 @F AT
AdR ORI STIAH BRTT?

(A) 903

(B) 898

(C) 263

(D) 738

I x* @7 3 ART, + BT 7 T,
+ T 3t IO SR~ T 3k W B,
ar

120+ 12-3+4%x2-2+1=9

(A) 477

(B) 447

(C) 747

(D) 774

SET-FG



Q74 Which are the two signs to be

Q75

Q76

interchanged for making the following
equation correct?
543%x4-12+2=-1

(A) +and -

(B) +and x

(C) xand~+

(D) +and +

Arrange the following words as per their
order in an English dictionary.
1. Respond

2. Revise

3. Remember

4. Repeat

5. Repeal

6. Regret

(A) 6,3,5,4,2,1

(B) 6,3,5,4,1,2

() 6,3,5,1,4,2

(D) 6,3,4,5,1,2

If in the word “TURBULENCE”, the first
letter is interchanged with the last letter,
the second letter is interchanged with the
ninth letter and so on, then which letter
would come after the letter B in the newly
formed word?

(A) L

(B) U

(©) R

D) T
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Q74 famfeiRad wHiaxor B W& 971+ o forg

Q75

Q76

]I Hdhdl o fGeA—dgell DHRAT TeHI?
5+3x4-12+2=-1

(A) + 3R —

(B) + 3M x

(C) 3R =

(D) + 3R +

fforRaa el &1 ool weadrer #
IS HH & TR JARIT N |
1. Respond

2. Revise

3. Remember

4. Repeat

5. Repeal

6. Regret

(A) 6,3,5,4,2,1

(B) 6,3,5,4,1,2

(C) 6,3,5,1,4,2

(D) 6,3,4,5,1,2

Ifd “TURBULENCE’ &3 #H, Ugell wicy
3ifeH oIeR & 1T IeAdl &, TERT ole}
THdl ole} @ AT 9ol & IR SR,
a9 =9 AT oreg H§ ok B3 91 B
AT Tl 3MMYT?

(A) L

(B) U

(C) R

D) T

SET-FG



Q77

Q78

P-6

If in the word ‘VICTORYPLAN”’, all the
first arranged
alphabetically, and then all the vowels are

consonants are
arranged alphabetically, which letter will
be the second to the right of the fourth
from the left?

(AT

(B) R

(OIY

D) Y

In a certain code language, the following
symbols represent the time in a clock as
follows:

% means either the hour hand or the
minute hand is at 2

+ means either the hour hand or the minute
hand is at 5

? means either the hour hand or the minute
hand is at 3

< means either the hour hand or the minute
hand is at 4

> means either the hour hand or the minute
hand is at 12

~means either the hour hand or the minute
hand is at 8

Note: If two symbols are given, then by
default, the first symbol is considered the
hour hand and second one is considered
as the minute hand; all times are
considered at PM. For example, <~=4 :
40 PM.

Train D that travels at a uniform speed of
10 m/s leaves Agra for Lucknow at %<
and train F travels to Agra from Lucknow
and starts the journey at %-~. Train F
travels one-third faster than train D. At
what time would both the trains meet each
other if the distance between Agra and
Lucknow is 138 km?

(A) <~

(B) +<

(©) <%

(D) +?
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Q77 afe ‘VICTORYPLAN’ ¥Tsg H, &+l

Q78

Rerids T ugel qurigehd H FaRerd fbar
ST 7, 3R R T Wi & quiigena #
AR AT ST €, a1 @19 |1 B aY
A =Y ® T[S AR GET BAIT?

(A) T

(B) R

©) Vv

D) Y

we (e qew ¥, FefaRaa udie
gl ¥ 999 &1 e ad &

% T HdeTd © I1 Al T Bl g AT A
PP 2W T

+ T A9 & [ 6 o1 gg A1 (e 3
S SW T

? ST Hoold B b a1 a1 °c &1 gs Al
e M P IW T

< P A T AT AT 8 DI Fg A1 A
BT PE 4T T

> P Fld & AT Al 8 DI gg A1 A
DY 12W B

~ BT 7eHd & fob 6 @1 gg A1 fAe 3
S 8| ©

g < gfe &1 g R o € @
fSwice wU ¥, Uga Udle o &1 g
AT ST € 3R g & [A7e &1 g
HET ST &, ) 999 6 PM H HMT
SITAT ® | SEIERY & foly, <~ =4 : 40
PM |

29 D 10 m/s T T A T A A3
BRI B, %< TR RIS & ol 3IRT |
AT BT ® 3R ¢ F @+ s | RT
TN BRAT & IR AT ~% W FH bRl
21 ¢ F¢A D gar 3§ U faers oot
JTAT BRAT © | IR IRT IR RIS B
g & g4 138 b1 € a1 <M1 25 U
TR A D I R AFR?

(A) <~

(B) +<

(C) <%

(D) +?
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Q79

Q80

Q81

In a certain code language,

‘bad time to purchase’ is written as ‘hi bo
njyz’;

‘invest money and efforts’ is written as ‘hi
ta ge mr’;

‘purchase bad stuff only’ is written as ‘yz
bo rd fp’; and

‘only energy and money’ is written as ‘ta
fp mr ux’.

What is the code for ‘invest efforts to
energy’ in the given code language?

(A) hibomr fp

(B) tanjyzrd

(C) tafpuxnj

(D) ux ge nj hi

In a certain code, LONGER is written as
QDFMNK. How will TIGER be written
as in that code?

(A) QDIHS

(B) QDFHS

(C) QFFJU

(D) QDFIS

Study the given information carefully and
answer the question that follows:

‘M + L’ means ‘L is son of M’

‘M x L’ means ‘L is father of M’

‘L % M’ means ‘L is son-in-law of M’
‘M — L means ‘L is wife of M’

‘L * M’ means ‘M is brother of

‘L# M’ means ‘M is the only sister of L’
Which two symbols will come in place of
the question marks in the following
equation to show that E is the wife of X?
X%P-C?D?E

(A) xand +

(B) +and -

(C) +and #

(D) Either x and + or + and #
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Q79

Q80

Q81

v Af¥ad g #,

‘bad time to purchase’ @7 ‘hi bonjyz’ &
®™T # forar ST ;

‘invest money and efforts’ T ‘hi ta ge
mr’® w9 § forar Srar %\';

‘purchase bad stuff only’ &1 ‘yz bo rd fp’
& wU H foRar e ©; &R

‘only energy and money’ @I ‘ta fp mr ux’®
wq ¥ forar e 2|

feu U Pre 9T F ‘invest efforts to
energy’ @ foTg @IS @1 27

(A) hibomr fp

(B) tanjyzrd

(C) tafpuxnj

(D) ux genj hi

v ff¥ad &Is &, LONGER &1
QDFMNK & %9 ¥ for@ar oirem g1 59
Prs H TIGER BT &9 forar Sigem?
(A) QDIHS

(B) QDFHS

(C) QFFJU

(D) QDFIS

T TS SIFSRI BT S Ydd JeITT DY
IR =1 gzt &1 SR < |
‘M+L &1 31ef ‘L, M’ PT 9T &
‘M x L’ %T 31 § ‘L, M’ &1 fuar &
‘L% M’ &1 31 & ‘L, M"&T SIS &
‘M—L &1 3 § L, M’ &I gell &
‘L*M BT 31 & ‘M, L &I 4TS &
‘L# M &7 31 8 ‘M, L’ &1 Tdheill 98+
g
ffaRaa T iaRor # wed foredl & =
TR P A & Y MUT I8 oam &
fore f E, X @1 ol 87
X%P-C?D?E
(A) x 3R+
(B) +3iR -
(C) +3iR#
(D) T @ x IR + AT + 3R #
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Q82 Study the given information carefully and

P-6

answer the question that follows.

When Mandira Singh tops in her MBBS
course, she becomes the 7th member of
her family to join the Medical profession.
All other family members, namely Tanmay,
Neerja, Monnish, Sanchit, Ruchika and
Vinita, are working at Sawai Man Singh
Hospital as doctors, and Mandira Singh,
who is the youngest of the third
generation, is all set to join them. In this
family of three generations, there are two
pairs of couples and two pairs of brothers
and sisters. There are three Oncologists,
two Dentists, one Physician and one
Neurologist in the family. No female in
the family is an Oncologist. Vinitais nota
Neurologist. No married person in the
family is a Dentist. Tanmay is the son of
Neerja, while Sanchit is the son of
Monnish, whose wife is Vinita. Monnish
is an Oncologist. Monnish and Vinita are
the eldest couple in the family. Mandira
Singh is the daughter of Sanchit, while
Ruchika is the sister-in-law of Neerja.
Who among the following is a Physician?
(A) Mandira Singh

(B) Neerja

(C) Vinita

(D) Ruchika
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Q82 T IS TMGRI BT LA YaD NI PN

3R 4 Tl &1 SR T |

9 HAfexr R sme TAdIET B H
<y foam, a1 a8 A 9T 9 oifdt 8
qrell 309 gRAR &1 74} Fexg 1 S
21 g it uRaIR & e, il a9,
ars 719 g udiel ¥ Sidex & wJ H
dUR 8| A9 qifedl & g9 gRar H, &1
el Sl SR 9rgdl SR 98l & =l
SIS © | gRaR # 9 AfpIaifone, &l
sq Rifecrs, e Rifdcas R e
wgfadve ((RIeRe) 1 aRaw #
IS AR T Spreiiioree T8 & | fasiiar
RIS 81 & | IRIR H iy faarfed
e e <a Afecdd 81 g | a9
ARSI &7 g B, Sfafe Aaid A B
9o &, rga oo fasfar 2| A e
JATPIASTRE & | AFTET 3R fa=ar aRaR
H 9e g% © | dfext Rig |fea a1 98
£, STafe BT RS &1 79g / SoH]
/ Al g
fFrfead # & B9 v Rifdbers 87
(A) #fexr Rig

(B) ¥RwT

(C) fafar

(D) ®ferer
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Q83

Q84

Study the given information carefully and

answer the question that follows.

In the Kasam family of three generations,

there are eight members — A, B, C, D, E,

F, G and H. C is G’s daughter-in-law. E is

B’s only grandchild. D is one of E’s two

maternal uncles. G and D, one of whom

is male, are the children of B. F is the father

of D. H is G’s husband.

Which of the following statements is true?

(A) There are two males in the second
generation.

(B) Ais the sister-in-law of H.

(C) There are equal number of males and
females in the family.

(D) Cis the granddaughter-in-law of F.

The words in the given word-pair share a
certain relationship. Select the option in
which the word-pair share the same
relationship.

Rat : Rodent

(A) Bee : Apiary

(B) Sailor : Ship

(C) Whale : Mammal

(D) Nomads : Horde

22

Q83

Q84

1 g TSR BT TdD eI DY
3R =T Ul &1 SR T |
A Qfeal & HH9 IRIR H, 16 qa=
g —A,B,C,D,E,F,GAR HIC,G @I
g€ 2| E,BPI UhHA Ul 8 | D,E® &l
AN W A UH 2| GIR DR & &
99 §, B® 9= &, F,D & fudl, H, G
@ ufy 2|
fr=rfeRad # 9 319 |1 B JF B?
(A) S0 GG # 7 gy T |
(B) A, H®! g /ST /41T 2|
(C) URAR H goul IR AlZATST DT FHA
T B |
(D) C,F& UKd @I gl /AT BT T
=

fau MU -y H e e MAfEd

e AT PR © | I [dhed BT aa=
PR T Te—IST U & R Pl ATl
HA 2 |

(A) FHal : ARSI

(B) ifde : Tl STgTol

(C) = : axa wrof

(D) §oIRT : ARIE
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Q85

Q86

Consider the given statements to be true

even if they seem to be at variance with
commonly known facts and decide which
of the given conclusions logically

follow(s) from the statements.

Statements:

1.  Some rats are white.

2. Some white are pigs.
3. Allpigs are blue.

4. No pigis a donkey.
5. All donkeys are tall.
Conclusion:

1. Some tall are not pigs.

. Some rats are pigs.

iii.  All blue being donkeys is a possibility.
(A) Onlyifollows.

(B) Onlyiand ii follow.

(C) Onlyiiand iii follow.

(D) Onlyii follows.

The production of Sugarcane by six states
in India in the year 2016 is given in the

following graph.

25000 23500

20000
15500
I 10000
o-

MP

Which of the following states contributes
less than 20 per cent to the total

Sugarcane production?
(A) OnlyGJ

(B) GJand AP

(C) GJ,APand TN

(D) GJ, MH, AP and MP
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Q85

Q86

fau U g W IR W, 9ol € 9 o
AR R ST i & a1 fA=iam # 81 3R
Aoy of f6 fay v st 5 9 &9
sy TodTd ®Y T HAF BT Ul
B 2 |

DU
1. BB I 998 T |

2. FHB Tha PWR T |
3. O R Al ¥

4. PIS YIR T T 2|
5. 9 T @d E
sy -

i. BB dd GPR T8 2|
ii. B IR WK T

iii. T el T BM B [T B
(A) ®ad i & Tl SRl B |

(B) ®adl i 3R ii YTl &R © |
(C) ®ad ii 3R iii T BT = |

(D) I ii YTe™ BT & |

Y 2016 H ART H B8 I GART T+
® Iaared frefaRad o | fear T
2 |

23000 22500
20000
15500
15000 -
10000 - 10000
m I
01 Gl MP
frfaRad =1 Sres § f=falRad #

A B AT ST 20 gfaed At BH
ANTE <dT 27

(A) DI GJ

(B) GJ 3R AP

(C) GJ,AP3IRTN

(D) GJ, MH, AP 3iR MP
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Q87 The following line graph depicts the

percentage of the number of candidates
who qualified CAT examination out of the
total number of candidates who appeared
for the examination from Mithun
Institution over a period of 7 years from

1994 to 2000.

Percentage
o5 888883838

1994 1995 1996 1997 1998 1999 2000

Years

If the number of candidates who qualified
in 1998 was 21200, what was the number
of candidates who appeared in
1998?

(A) 32000

(B) 28500

(C) 26500

(D) 25000

Q87 famferRaa dfaa UTH 1994 | 2000 TH 7

AT DI A H AT SRITIR | g
& for SuRed SHIGART &1 qof F&T

I AUl (CAT) TRie S0 R dTel

SHICIRT B GT BT Ufqerd e9idr 2 |

Percentage

1994 1995 1996 1997 1998 1999 2000

Years

Ifg 1998 H ARAT UK (FAIfABIZS)

IHIGaRT &1 AT 21200 off, AT 1998 H

IR IHIGARI Bl Tl a7 fi?
(A) 32000
(B) 28500
(C) 26500

(D) 25000
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Q88

Q89

Exports from three companies
(X, Y and Z) over the years (in ¥ crores)
are given the following line graph. Study

the graph and answer the question that

follows.

represents Company X — —=— —
represents Company Y .-

represents Company Z —e—

For which of the following pairs of years

was the total exports from the three
companies combined equal?

(A) 1995 and 1998

(B) 1996 and 1998

(C) 1997 and 1998

(D) 1995 and 1996

Read the given question and decide which
of the following statements is/are

sufficient to answer the question.

Question:

What is Rohan’s rank in the class?

Statements:
I.  Rohan’srankis 24 less than Nandan’s
rank.

II. Archana’s rank is 38 more than
Rohan’s rank; Nandan’s rank is 10
less than Archana’s rank.

(A) Statement I alone is sufficient.

(B) Statement II alone is sufficient.

(C) Either statement I or II is sufficient.

(D) Both statements I and II together are

not sufficient.

25

QS8

Q89

st Bo auf # (H=rs wuRl #) # =
PUFRT (Tad, d15 3R ofs) & T &
fefaRaa @ge o v v €1 ame
BT AT PN 3R 4 Je T SR < |

4233 8HESR

Amount in Rs. Crores

f=foRad & 1 IFNT Arell | A1 ufaar
TART Bl AT BT oI UHHAN AT?
(A) 1995 3R 1998

(B) 1996 3iR 1998

(C) 1997 3R 1998

(D) 1995 3R 1996

ey U vl o ¢ &R fvfy o &
f=ffRad & 9 o9 a1 HUF 9= BT
IR 9 B oI v B

I+ :
BT H e BT Vb T 87

BT

[. &9 BTG Fd & ¥P A 24 BA
2l

[I. X8 & b I 3T BT b 38 3MR
3B &; G BT P AT b ¥ A
10 B9 2|

(A) Bad B [ T B |

(B) ®ad %o Il T 2 |

(C) a1 &1 B 137 [ 9T |

(D) &9 1R I GFI F8) Jal ¢ |
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Q90 Read the given question and decide which

of the following statements is/are

sufficient to answer the question.

Question:

Mittal has a building in Ayyappa Society,
Madhapur, which has five floors named
from no. 1 to 5 in such a way that
lowermost floor is numbered as 1 and the
topmost floor is numbered as 5. Five
members live at different floors of the
building, namely Rama, Lina, Tina, Charu
and Anita, but not necessarily in the same
order. Also, these five work in different
companies, namely A, B, C, D and E. Tina
stays on floor no. 2 and works in company
D, and Charu stays on floor no. 5. Also,
the one who stays on floor no. 1 works in
company A. Then, who lives on floor no.
3 and in which company does she/he

work?

Statements:

I.  Neither Lina nor Anita works in
company A.

II.  One who lives on floor no. 3 works
in company C.

III. Anita does not work in company C.

(A) Statement I and II together are
sufficient.

(B) Any two statements together are
sufficient.

(C) Either statement I and II together or
statement II and III together are
sufficient.

(D) All the statements, I, II and III

together, are sufficient.
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Q90 faU T U=l & U 3R fAvig of f&

f=foalRad & 9 @9 a1 AT YT BT
IR 9 B oI I B

T

fAcTe & U W ARIsel, HETgR W
TH $ARA B, g uiar wfTer € ST 1 9
599 9 g | 59 avg ¥ frean Jite &t
1% w9 # e orar g iR ofidaw
AT ®Y 5 & ®U H [ SI1aT ® | AR
& fafr= df7a 3 Ui e *1iq I,
TS B HH | § SToN Tl g | T g,
faft=1 wufai, sterfq A, B, C, D3R E
2| ST ARTe 2 # & 8 8k BUAl D
H & Bl 8, AR TS ATl 5 7 &l
2| SH® orelmar, S AR wwr 1 H
IEdT € 98 BUAl AH BT HRT g | 3R,
S AT e 3 H B § 98 e

HUHT H BTE BT/ Bl 82

B :
[ 5 dr <H1 3R 9 &) 3 dr dul A
H B Bl B

II. S Afdd d4fTel Ivam 3 . T&di ©
I8 BN CH B HIdT 2

[I1. 3ffdT U= C & g T8} Heall 2 |

(A) BT 13IR I <1 91T # qaia &

(B) @I W T YA AT H I 7

(C) a1 a1 U [ 3R 1L IT HoF 11 iR
Il <=1 a7 # g € |

(D) T ®F L 11, 3R 1111 gaied
2l
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Q91

Read the given question and decide which
of the following statements is/are

sufficient to answer the question.

Question:

There are five Oil Refining companies in
India, namely A, B, C, D and E.
Production of which of these companies

is the highest?

Statements:

I.  Production of Company B is more
than that of Company A but not more
than that of Company E.

II. Production of Company C is more
than that of Company B but not as
much as that of Company D.

III. Production of Company E is not as

much as that of Company D.

(A) Statements I and II together are
sufficient.

(B) Any two statements together are
sufficient.

(C) Either statements I and II together
or statement III alone is sufficient.

(D) All the statements, I, II and III

together, are sufficient.

Q91 feu v gl @ ¢ 3R fAvig of f&

f=felRad & 9 o9 a1 U9 9T BT
IR 9 B oI I B

I :
3 A, B, C, D3R E 394 | &9 Al

HY BT IATeT FIT SITST 27

B

[. U BT ISATGT DU A el
# 31fre & Afds Bu E S et
1T T8l T

II. &GN C Bl UG DU Bl el
# fd® 2 Afd U D& Rt
SR

. SUHI E &1 IUTed I -8l 2
ST HTN DT 7 |

(A) HIF 1R 11 SF! 1T # gaie 2|

(B) @13 I & %Y AT # AT € |

(C) a1 a1 HF 1R I TH 1T AT
&I HAF I DAl T T |

(D) T & L, 11, 3R 1117 gt
g |
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Q92

Q93

Read the given statement and the

following assumptions and decide which
of the assumptions is implicit in the
statement.

Statement:

The government decided to pay a
compensation of ¥ 5 lakhs to the family
members of those who were killed in the
boat accident in the Godavari at
Pasuvullanka.

Assumptions:

I.  Government treasury has enough
funds to fulfil the compensation
expenses.

II. The government can try to bring
down the incidents of boat accidents
in the future in that area.

(A) Only assumption I is implicit.

(B) Only assumption Il is implicit.

(C) Either assumption I or Il is implicit.

(D) Neither assumption I nor II is
implicit.

Consider the given statement to be true
and decide which of the conclusions
logically follows from the statement.

Statement:

Use ‘Calvin Klein’ jeans. Nothing comes
between me and my Calvins. — An
advertisement.

Conclusions:

I.  Catchy slogans do not attract people.
II. People like dark shades of jeans.

(A) Only conclusion I follows.
(B) Only conclusion II follows.
(C) Either conclusion I or II follows.

(D) Neither conclusion I nor II follows.

28

Q92 fiu v PeM iR famferRaa waami

Q93

BT Ug IR 01 of & ®= § w0
GOy sidfifed € |

HUT :

TGRSl AN Ugecicbl TR Il H
A1 gHeAT H AR Y AN & URARI &
AR Bl T 5 ARG BUY BT GaTasll -
BT BAAT BT |

RO

I SR PN H ool & Td Bl
R R & ol gafe ==l 2 |

[I. R 9 &7 H 9fasy # 719
SECHI B TR BT BH DI
P DICTT B Thell 2 |

(A) Had grRoT [ IdRd B |

(B) ®adt &R 11 3df=d g |

(C) 9 @ &rom 1371 11 3fafifRa =1

(D) 71 a1 grRoT 13iR 7 & 11 3fafifed
=

fRu v 98 9 W AR & 3R
foolg of fb @19 & ey arfds wu 9
39 BT BT T B 2 |

P
‘Pfead Tl ST BT STANT B | WX
3R W dbfead & 99 HB W 7Ll 3M1ar
2| —fasmue |

fspy :

[ 3PP AR (Hdl FAF) AN Bl
MBI & B & |

[I. SN B SH TS dTell S U¥g
AT B

(A) DI FTBY [ UTel BRaT ¢ |
(B) ®ad fspY 1l 9T &l & |
(C) a1 a1 sy 131 11 9T Brall 2 |
(D) =1 df f<pY [3IR 7 &1 11 UTefe ®Hal

=
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Q94 Read the given question and decide which

Q95

P-6

of the following arguments is/are strong.

Statement:

Should officers of nationalised banks be

transferred after 1 or 2 years?

Arguments:

I.  Yes. They get friendly with local
people and are manipulated by them.

II. No. By the time their policies and
schemes start taking shape, they have
to leave.

III. No. This will create a lot of

administrative hassles and cause a lot

of inconvenience to the officers.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Only arguments II and III are strong.

(D) Only arguments I and III are strong.

Read the given question and decide which
of the following arguments is/are strong.

Statement:

Should all the indirect taxes in India be

combined into a single Goods and Services

Tax (GST)?

Arguments:

I.  Yes. This will considerably simplify
the tax collection mechanism and the
cost of collecting tax will also reduce.

II. Yes. The manufacturers and traders
will be benefited by this, which in turn
will boost tax collection.

III. No. No other country has adopted
such a system.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Only arguments I and II are strong.

(D) Only argument III is strong.
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Q94 faw Y yeq &1 ue SR ol of b

Q95

f=ferfRad 5 9 B9 91 dF YHTaeIel
=

BT :
FT IS dpbl & SMABINRAT BT 1 AT
2 Tl 916 IR fhar S =nfau?

TP -

I | e el & | ge—id
ST € 3R S99 ATl | B
BEASIRSISERSIR

II. 98| 99 d& S it iR

BISAT ISl © |

Tl | I8 98d AR YRId WREI

AT BT 3R AfHRAT B forg

g A1 G DT HROT & YT |

(A) DI TH | THITTA € |

(B) ddal Tb 11 THTa9ITeA B |

(C) ®ad Td 11 R I g9Taemel € |

(D) ®ad db 1R 1 F9Ta2mel & |

I1I.

fau 0 v @1 ug iR i o &
f=forlRad § 9 &9 91 I UTaeIel
=

U :

T ARA H G 3T BRI Pl UH

A @R a1 B (GST) H ST ST

12q?

TP -

I. | I8 SR FUT YUl Bl BT
TR G197 QIR 9 R UHA
B DY ANTT W BH BT ST |

II. 2f| il iRk araRar & ga9

BIIET BT, ST 9acf § B AU Bl

AT <7 |

el | fopedt o= e 71 =AY gomedt

SEECERIFRT

(A) DI Tb 1 THGTA B |

(B) ®dal T 11 TGl € |

(C) dad ddb 13K 1 g9Ta2Iel § |

(D) ®ad db 11 F9a2el & |
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Q96 Read the given information carefully and

answer the question that follows.

ABC Society has kept the following

conditions for the allotment of flats in their

society. The applicant:

(1) Must produce domicile certificate of
the State

(i) Must be earning for minimum of 5
years

(ii1) Must be ready to pay the entire
amount in 5 years’ period

(iv) Must not be the owner or co-owner
(if spouse is owner) of another
residential accommodation in that
city

(v) Mustnotbe less than 35 years of age
as on 31st December 2016

In case of an applicant who satisfies all

other criteria except:

A) (i) above, should be referred to the

President of Town Council

(i1) above, but is ready to provide

Aadhar card, should be referred to

the Vice-Chairman of the Committee

(ii1) above, but is a freedom fighter

or an ex-serviceman or a first relation

of them, should be referred to a

member of the Committee

The last date for receipt of application was

31st December 2016. Conditions are to

be fulfilled as on 31st December 2016.

Based on these criteria, decide whether

to allot flat or not in the following case,

given to you as on 1st January 2017.

Shami is planning to purchase a flat in

ABC Society. He is the son of an

industrialist and from another state who

has set his factory in 2000 and has a

domicile certificate of the state. He is

ready to pay the entire amount in 4 years

if required. He does not own a house in

that city but his wife owns a flat there.

His date of birth is 11th November 1970.

(A) Do not allot flat.

(B) Refer to the Chairman.

(C) Refer to the President.

(D) Allot flat.

B)

0)
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Q96

<Y TS SHGRT Bl &9 I U 3R =

3 B SR ¢ |

ABC IINI18S] o 319+ ANAES! § elel

P 3 & forg fA=ferlRad ordt & <@r

=3

() *MdeH = 5T & AT &1 g
TF U BRAT AR

(i) 3MAEH HH A HH 5 ATl H HATT
BT AT

(iti) rdeT qRY IR BT YA 5 A
D Ay H A B oIy TIR BT
Iy

(iv) MIEH I IR H faY 3 3marity
A b [@E AT Aot (Afe
ofy / ucl w@r €) FEF 8T @Ry

(v) 3MMded 31 faxdaR 2016 TF 35 a9 |
®H 3R BT A8l BMT AMRY

JMITH & HFSA H Ol 37T FHT AFGS!

DI GRT IRAT & R g9 1o -

A) (i) SWRIE, <SH BRI o 3rede

BT Aefid fhar ST @Ry

(il) SR, oifdhT AR HTe Y™

A o fog IR B, 9ffa «

JUTegel Bl Aed fdhar SET Ay

(iii) SuYa 2, olfh U T

JAH A7 g SHE A1 39D Uge

forar ST =ty

3 o Uit @1 <ifaw fafdr 31 iR

2016 i1 | 31 f3HaR 2016 BT TQAT DI YT

far ST & | 39 AFGS] @ JMER W,

folg <f foh muer 1 STFeRY 2017 @1 &

U fEfIRad Aot § Tole afdfed Rl

g a7 e |

I ABC ATATSE! § U Tolc WRIG &)

ATSTT §11 &1 2 | 98 Yeb IQANTUM AR

T T W T REF 2000 H 9T

HREHT RMUd fhar 8 iR S9a 9

I BT 9T g4910T U= 7 | e emavad

B Al 98 4 A1 § [ AR BT I

P B foly IR T | SHS U9 I IR

¥ Bl TR T8l & oifbT S Il B

U Udh Yol B 39 o= fafdr 11

TddR 1970 T |

(A) Toic Irmdfed dd BT |

(B) TRIRA & e < |

(C) URISe &1 Hed < |

(D) Wefe 3rmdfed & |

B)

®)
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Q97 The given figure is embedded in one of Q97 & g 3“%“?1 o fAedl 5 9 & |

the following options. Select that option: TRSS & | 39 f[ddhed &7 o N |
(A) (A)
(B) (B)

(C) ©) 1 \
(D) -& \ (D) -& \

Q98 The given figure (x) has some specific Q98 faT Y 31iws (x) # 7B fafre udis €|

symbols. Choose the option in which the g8 fddey ﬂﬁ forad v & Wi Uiy
same symbols are found: ST 2
@A @A
4
s s
(x) (x)
T A G A
(A) ‘f@ (A) ‘f@
< <
= 2V,
(B) i 4!‘ (B) i 4!
o & L&
© |pv® © |gve
& &L
o) [A%4% @) |A%%
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Q99 Kapil and Dharma are playing with two

Q100 Replace the ? in the given figure with a

dice in a club and they have rolled them
on the floor as given in the following
figure. If x represents the number of dots
on the faces opposite to that containing

four dots, then find the value of x:

DO

(A) 2
(B) 3
©) 6
(D) 1

suitable option from the following figure

by observing the relationship between

figures (A) and (B).
< ¢l |
Lo/ 2 ?
¥ -3 $
A B [« D

VA | lako|Ladl | Ladl
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Q99 ®fUet 3R oAl Fetd § &1 U & 1T

Y I © AR I/ UM Bl fr=aferiad
ol & o aR wel W gAr 71 Al x
IR fdgall & I 8R R AlEfdga
@I G BT ARG R &, dr x Bl
A ST B |

(A) 2

(B) 3

©) 6

(D) 1

Q100 o (A) @R (B) & &9 @& &l &l

TR fIY MY F Bl IuGH [Adhey &
AT IGel?
< ¢l |
2-; K
A B c D

VA | lako|Ladl | Ladl

1 2 3 a
(A) 1
(B) 2
(€) 3
(D) 4
SET-FG



GENERAL KNOWLEDGE / A= WG

Q101 When is World Tiger Day celebrated?

(A) 21 April
(B) 23 May
(C) 18 June
(D) 29 July

Q102 Where was India’s first Global Mobility

Summit held?

(A) New Delhi
(B) Pune

(C) Lucknow
(D) Mumbai

Q103 Which among the following governments

launched the Suryashakti Kisan Yojana?
(A) Madhya Pradesh

(B) Maharashtra

(C) Guyjarat

(D) Odisha

Q104 The 7-Star Gram Panchayat Rainbow

P-6

Scheme launched by the Government of
Haryana to give star rankings to its
panchayats is based on how many social
parameters?

(A) 9

(B) 7

©) 5

(D) 3
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Q101

Q102

Q103

Q104

faeq 919 A9 (Tcs SRR S) B A9
ST &7

(A) 21 3T BT

(B) 23 Aig @I

(C) 18 S &l

(D) 29 TS I

YRA B ygell df¥ge e fRex
T (Tellge Aifaferc affic) @et
AT e Tam ofr?

(A) 7 faeell

(B) g

(C) g

(D) Hag

frfoRed SRaRE # 9 fha 7 o
o Ao T BT Uy R 87
(A) 7T U<

(B) HERTY

(C) ORI
(D) anfsem

R BT < & o g% ol 78 7RI
U AT SEEJY Aoi1 T ArHifoTd
AMGI TR IMERT &7

(A) 9

(B) 7

€) 5

(D) 3
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Q105 The Telangana Police has launched
mobile application to support the

professional communication and
collaboration needs of the entire police
department of the state.
(A) People Connect
(B) Crime Connect
(C) Law Connect

(D) COP Connect

Q106 Which among the following has recently
been declared as the state fruit of Tripura?
(A) Queen Pineapple
(B) King Orange
(C) Prince Mango

(D) Queen Litchi

Q107 What is the full form of NABARD?

(A) National Agricultural Bank for Agro
and Rural Development

(B) National Bank for Agriculture and
Rural Development

(C) National Bank for Asset and Rural
Development

(D) New Bank for Agriculture and Rural

Development

Q105 T Yo =1 T & IR gferd faamT
D ATIATRID TR AR FEANT DI STaxa|
BT T XA B fog AR
ftetaer ot faar 2|
(A) dud dae
(B) hIgH Hridc
(C) df ®rde
(D) WL PBriae

Q106 BTt & H F=feiRad & 4 fhasr Biyx
BT ISTH GIfNd fhar Tar 87
(A) F9
(B) b 3RS
(C) i am
(D) ¥4 ford

Q107 e (NABARD) & faw]d wU a1 &7

(A) IS TfidoaRed 96 BR T U
¥R STATHS

(B) IS §% BR THidHedR T8 HXdl
STATHE

(C) A db BR T TS WXl
STATHE

(D) = & ®BR TidedR TS IV
SaATHE

SET-FG



Q108 Which among the following nations is the

largest tractor market in the world?
(A) Brazil

(B) USA

(C) Russia

(D) India

Q109 The 13th edition of ‘Annapoorna — World

Q110

P-6

of Food India’ is scheduled to be
organised during 27-29 September 2018
n:

(A) Mumbai

(B) Delhi

(C) Bhopal

(D) Patna

Which of the following nations was the
world’s largest producer of milk in
2017-18?

(A) Germany

(B) India

(C) Australia

(D) South Africa
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Q108 FrefeIRad <2l 7 | &9 A1 giT &

I FT SR doiR 272
(A) aTfTet

(B) 3TRI@T

(C) &4

(D) 9Ra

Q109 27—29 RAdER 2018 & SR F=YUIT —

Jos 3% S AT & 137 HWHRIT &l
3ATST fopsr wreR # b SIrR?

(A) 5%

(B) faeelt

(C) Hrare

(D) e

Q110 2017—18 & SR A=feIRad & & DA

AT T AT HT FIH IS8T §Y IAEDH
77

(A) STHAT

(B) Rd

(C) 3ffesfor

(D) f&roT 31hiant
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Q111

Q112

Q113

Q114

Which of the following is an example of a
Primary Storage Device?

(A) Hard Disk

(B) Random Access Memory

(C) Magnetic Tape

(D) Optical Disc

Which of the following is a Programming
Software?

(A) Disk Cleanup

(B) Windows

(C) Disk Defragmenter

(D) Visual Basic

In terms of computers, the set of ways in
which an adversary can enter a system and
can potentially cause damage is called:
(A) Attack Surface

(B) Attack Signature

(C) Attack Pattern

(D) Attack Path

The use of mathematical techniques to
provide security services, such as
confidentiality, data integrity, entity
and data

authentication origin

authentication, is called:

(A) Cryptology

(B) Cryptography

(C) Cryptographic Algorithm
(D) Cryptanalysis
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Q111

Q112

Q113

Q114

frfaRed # & 39 T UgHI RS
fEarser &7

(A) TR 555

(B) ¥H Uaid HARI

(C) #Hfed <u

(D) Jiiftewrar &&h

71 § 9 B e Ui divedaR 27
(A) [$%F Feliar

(B) fderst

(C) & SHrHR

(D) fasgsret o

HIYER b Aed H o R A DI
faRE Rved o wa9r o) Ahar & &R
I w0 & &Ifd BT RO 99 FHhaT ©
S FIT HEd 87

(A) BHCT A8 /3Ch AXDY

(B) BHC BKIER /3Ch RT=eR

(C) &Fell Ued /e Ued
(D) BT U /31CH TrT

GRET ATl ST YR, ST 3RISl,
ShTs JATOMIRRYT 3R ST Hl TATUIEHROT
U™ @R & forg PRI ddb-ial @
SUINT T HET Sl 27

(A) Torerarst

(B) forerumst

(C) fhenrmbd TeTiReH

(D) ferreTferfera
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Q115

What is the percentage of land used for
agriculture in Uttar Pradesh?

(A) 56.7

(B) 60.7

(C) 64.7

(D) 68.7

Q116 Which is the shortest Kaanda (chapter) of

Q117

Q118

P-6

Ramcharitmanas?

(A) Aranya Kaanda
(B) Kishkindha Kaanda
(C) Sundar Kaanda

(D) Lanka Kaanda

What is the rank of Uttar Pradesh among
Indian states in terms of the quantity of
potato production?

(A) First

(B) Second

(C) Third

(D) Fourth

In which district of Uttar Pradesh is the
Kichhauchha Dargah Sharif located?

(A) Sant Kabir Nagar

(B) Mirzapur

(C) Ambedkar Nagar

(D) Sultanpur
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Q115

Q116

Q117

Q118

IR U H BN & ol ugad 4 &1
gfererd I &7

(A) 56.7

(B) 60.7

(C) 64.7

(D) 68.7

RMAARTAF BT DA AT BIUS (IEA)
AT BICT &7

(A) 3RTG PpIUs

(B) foftner wvs

(€) g} @I's

(D) Wil BIvS

31 & I § YRA H IR TS Bl
W T 87

(A) Tl

(B) &~1

(C) T

(D) drer

IR U< & fhd Sfiel H fHBisT avmg
N Rerd 28?
(A) 9d HIR TR

(B) fasigR
(C) 3TdSdHR TR

(D) G IR
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Q119 With which musical instrument is the Q119 il U, oM &1 I fHforRaa #

noted musician Mrs. N. Rajam associated? W | & argy I3 | 7°
(A) Sitar (A) AR

(B) Violin (B) arafer

(C) Tanpura (C) argxT

(D) Flute (D) &I g8

Q120 In which year is the next Ardh Kumbh Q120 gorrerEre # fd a¥ arTel ared B DI

Mela scheduled to be held in Allahabad? TS T ST 27
(A) 2019 (A) 2019
(B) 2020 (B) 2020
(€) 2021 (C) 2021
(D) 2022 (D) 2022

Q121 On which occasion are the Sohar folk Q121 fA=ferRad & I P9 R W AR

songs sung? QBT BT A o Sirem &7
(A) Childbirth (A) T & ST W

(B) Namakarana (giving a name) (B) STHIchRoT

(C) Mundan (cutting of hair) (C) Hs7

(D) Marriage (D) faarg

Q122 Which of the following places is famous Q122 &GAR Blell & forg /9 & & @9 <1

for Lathmar Holi? W URYE 87
(A) Vrindavan (A) gTad
(B) Govardhan (B) TMae|
(C) Barsana (C) I
(D) Gokul (D) e
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Q123 Who is the author of ‘Mitti Ki Baarat’, a

collection of poems?

(A) Jaishankar Prasad

(B) Shivmangal Singh Suman
(C) Mahadevi Verma

(D) Maithilisharan Gupt

Q124 In which of the following cities is the

Central Footwear Training Institute
located?

(A) Kanpur

(B) Lucknow

(C) Agra

(D) Noida

Q125 Which district of Uttar Pradesh has the

highest population as per Census 2011?
(A) Allahabad

(B) Agra

(C) Moradabad

(D) Ghaziabad

Q126 What was the land donated to Jaina

P-6

institutions called as per Chola
inscriptions?

(A) Vellanvagai

(B) Shalabhoga

(C) Pallichchhandam

(D) Brahmadeya
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Q123 “fEl @ IR’ AWE Bfadr AUE b

ARED B 7

(A) STIAY U
(B) Rrewer R ga
(C) weradl i

(D) #frefrerRoT TaT

Q124 fHfeRad | ¥ fbd wer # Agdl Hefddr

o T $Recye Rea 77
(A) DR

(B) &S

(C) TRT

(D) TS

Q125 2011 & SHVMT & ATAR IR T3

@ frd Rtel o S qaffde 2?
(A) SCITETdTS

(B) SIIRT

(C) ARIEMETE

(D) TfFaTeTE

Q126 AT W@ & AR ST FRIT Bl

T9 # Ry SIM a1 9 B R®I1 wE
SIS0

(A) Jeofr=aTTg

(B) TR

(C) Uccireor<d

(D) SRl
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Q127 Which ruler founded the Tughlaq dynasty

in India?

(A) Firuz Shah Tughlaq

(B) Ghiyas-ud-din Tughlaq
(C) Alauddin Sikander Shah
(D) Muhammad bin Tughlaq

Q128 Which of the following kings died as a

result of falling down from the stairs of
his library?

(A) Jahangir

(B) Shah Jahan

(C) Babur

(D) Humayun

Which Mughal emperor got the famous
‘Peacock Throne’ built and placed in the
Lal Qila in Delhi?

(A) ShahJahan

(B) Jahangir

(C) Akbar

(D) Bahadur Shah I

Q130 Why is Bodh Gaya an important Buddhist

pilgrimage centre?

(A) Because Gautam Buddha was born
here

(B) Because Gautam Buddha attained
enlightenment here

(C) Because Gautam Buddha preached
his first sermon here after attaining
enlightenment

(D) Because Gautam Buddha attained

parinirvana here

Q127 % 2 o WRd H JIeTd d Bl g

IET AY?

(A) FRIT wme gireras
(B) TRII—TE Tl
(O R EISHERREE NI

(D) H&ws fa71 girerd

Q128 71 ¥ ¥ b ¥™ @1 I 9D

QIDTer B Wifedl 0 fRex gg o7
(A) STEAR

(B) ¥MEwIEl

(C) drsR

(D) g,

Q129 fIequiirg AR Rigra= &I AT iR @

AT fobel | Termar e | 9 fh g
ARAS A BT AT?

(A) SITESTR

(B) SIERIR

(C) IHR

(D) SEIgRYE 1

Q130 9T AT U YUl dlg i b -l

27

(A) i TTH g Jei UaT 8¢ o

(B) ifd o g€ = I = U
o e

(C) HIfP Tidd gg -1 <9 U< B B
q1e I8] ITT Ul SUcy faar of

(D) Hifd ToH g& -1 Iai Fafor gra

fopar o

SET-FG



Q131 Which of the following sessions of Indian

National Congress was presided over by
Mahatma Gandhi?

(A) 1922; Gaya

(B) 1923; Delhi

(C) 1924; Belgaum

(D) 1925; Kanpur

Q132 Which prime minister of Great Britain had

announced the Communal Award in 1932
during the Indian Freedom Movement?
(A) Stanley Baldwin

(B) Neville Chamberlain

(C) Sir Winston Churchill

(D) James Ramsay MacDonald

Q133 In which city did freedom fighter Chandra

Shekhar Azad shoot himself on being
besieged by the British Police?

(A) Bhopal

(B) Allahabad

(C) Kanpur

(D) Jabalpur

Q134 Which of the following rivers ends in the

P-6

Arabian Sea?
(A) Narmada
(B) Godavari
(C) Krishna

(D) Kaveri
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Q131 HETH T ¥ WRA IS BN &

ffaRaa = § 9 fhas! e
ofY?

(A) 1922; 7T

(B) 1923; faeell

(C) 1924; ST

(D) 1925; HTR

Q132 ¥R ¥ad=dr 3Malel= & R 1932 |

Ue focd @ fba yge /3 3 HiusTisS
QREHR DI AT B off?

(A) Al dresiad

(B) Afde TR

(C) IR fdwes afda

(D) ¥ YA HhsHogd

Q133 = # 9 b9 w&R # @d=ar |l

SRR JAToME o1 fafesr gfory garT iR
S W G Bl el AR ol fi?

(A) AT

(B) SelErdi

(C) PR

(D) S9eqR

Q134 f=forRad & & frg 7 &1 A\

3RY WFR # &7
(A) TFHaT

(B) TMerast
(C) Pwm

(D) I
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Q135 In which state is the Bhadra Wildlife

Sanctuary situated?
(A) Kerala

(B) Madhya Pradesh
(C) Karnataka

(D) Uttar Pradesh

Q136 Which of the following states has the

lowest density of population in India?
(A) Mizoram

(B) Sikkim

(C) Nagaland

(D) Arunachal Pradesh

Q137 In which country does Danube river

originate?

(A) Hungary
(B) Germany
(C) Romania

(D) Austria

Q138 Which is the largest continent in terms of

area?

(A) North America
(B) South America
(C) Asia

(D) Africa
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Q135 9&T I=oid SPIRYY fhd o # Rerd

27

(A) DA

(B) &g U<
(C) Prilcd
(D) ITR T

Q136 f=ferRad # & fod =9 & 9Ra #

ST DT g-cd Fad hH %\r?
(A) fasirs
(B) ffdemH
(C) TTeis

(D) 3TSUMAA TS

Q137 S <! &1 S b <1 7 77

(A) T
(B) ST
(C) =y
(D) 3fiRgan

Q138 &Fhd & AR W A §9T Helgdd

= 5 q 3 a8
(A) SR 3MR®T
(B) <feror smRapr
(C) TR

(D) 3IbIdT
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Q139 On which river is the Chamera Dam built?

(A) Sutlej
(B) Ravi
(C) Beas

(D) Chenab

Q140 In which country is Galeras Volcano

located?

(A) Colombia
(B) Mexico
(C) Italy

(D) Hawaii

Q141 In which state is the Thoseghar Watertfall

located?

(A) Mabharashtra
(B) Karnataka
(C) Odisha

(D) Madhya Pradesh

Q142 What is the approximate percentage of the

P-6

total human population that lives in the
Northern Hemisphere?

(A) 60

(B) 70

(C) 80

(D) 90

43

Q139 =RT 9 fhd <) TR §H9/-™T AT 87

(A) |ag
(B) 3fa

(©) e
(D) e

Q140 ey ATl fhd < # Rerd €7

(A) Drafraar
(B) AfdRapr
(C) el
(D) &a1$

Q141 9NER dTexmlcl fhd g # Rerd 87

(A) HERTSS
(B) Hlc®
(C) snfsem
(D) e Uasl

Q142 Tl & Il T H I ATl g

A JATETET BT SFFATT Ufcrerd a1 87?
(A) 60
(B) 70
(C) 80
(D) 90
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Q143 Ram Nath Kovind is the President

of India.
(A) 16™
(B) 14*
(C) 12*
(D) 11™

Q144 According to Article 243-1 of the

Q145

Q146

Constitution of India, a Finance
Commission is constituted to review the
financial position of the Panchayats:

(A) at the expiration of every sixth year
(B) at the expiration of every fifth year
(C) atthe expiration of every second year

(D) at the expiration of every third year

Accordingto  of the Constitution
of India, the President has the power to
promulgate Ordinances.

(A) Article 123

(B) Article 121

(C) Article 125

(D) Article 127

The total number of nominated members
in the Rajya Sabha is:

(A) 17

(B) 19

(C) 15

(D) 12

Ql43 NIM AT Pfdg WRA S IIgufd
2 |
(A) 164
(B) 14d
(C) 12d
(D) 11d

Q144 ¥R & AU & 36T 243-1 & JFTAR
gardl & facia Refa o aWer &
o1 AT JMANT &1 T8+ 6he fbhar v
2?
(A) B TS 99 P AT TR
(B) & Ufad 99 & HHIG R
(C) & TN a¥ 3 FAIG W
(D) & TR a4 & FHIT WR

Q45 9Rd & WREM & & 4R
Il & OT IATAY STRI B Dl
NIES IS
(A) =0T 123
(B) e wus 121
(C) =T8T 125
(D) =0T 127

Q146 STH9T | FAMIT WGl & ol AT
T 8?
(A) 17
(B) 19
(C) 15
(D) 12
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Q147

has the power to prorogue the
Legislative Assembly.
(A) The Governor
(B) The Prime Minister
(C) The Vice-President

(D) The Chief Minister

Q148 Where has the first Mobile Open

Exchange zone been inaugurated?
(A) Ahmedabad

(B) Gurgaon

(C) Chandigarh

(D) Noida

Q149 What was the rank occupied by India in

the 2018 AT Kearney FDI Confidence
Index?

(A) 25*

(B) 11™

(C) 36

(D) 74"

Q150 The Union Cabinet has approved the

P-6

extension of the scheme of recapitalisation

of Regional Rural Banks (RRBs) up to

(A) 2020
(B) 2022
(C) 2025
(D) 2030

45

Q47 I fOIM 1 &1 I B

DI ufdd g 2
(A) TR
(B) YLTTHAT
(C) SwRTzUfer
(D) gl

Q148 YIH HIdIgel AT RIS S &l

Igare dal fhar a7 27
(A) 3fEHIIETS

(B) et

(C) d<rTe

(D) HrgeT

Q149 2018 & T BIFI TH. SIS, Bifbed

SSAI § WIRd BT R R®IT AT?
(A) 25ai
(B) 11dt
(C) 36ai

(D) 74at

Q150 T #f3ded o &= umor ddi

(3TR.BRAN) & YAYSIIBRYT B AT Bl

T AR @ Aol § 4 B
(A) 2020
(B) 2022
(C) 2025
(D) 2030
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Read the following Instructions carefully :

frafeafaa el @ &9 9 U

1.

10.

11.

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not

liable to be changed

. The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere

else except in the specified space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care,

as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

. The candidates will write the correct Test Booklet

Series as given in the Test Booklet in the Attendance
Sheet.
Each candidate must show on demand his / her Admit

Card to the Invigilator

. No candidate, without special permission of the

Superintendent or Invigilator, should leave his / her

seat.

. The candidates should not leave the Examination Hall

without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.

Use of Pencil/Electronic/Manual Calculator is
prohibited.

The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

After Examination is over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy
of answer sheet.

Candidates are not allowed to take Test Booklet with
them They have to submit the Test Booklet to the

invigilator after the exam.

1. 9% U & forv fov ¥ IR fAdeal § 9

TE SR B foIv ol UH. R, SR U9 WX
®acl U el Bl 81 YUl k8 Plel qicl Uise
U9 9 M| Th IR SR 3ifbd fbu o1 &

q1e I 98l ol S AT © |

. qRIEe RREd o &1 ITR U Bl AreT 1

U Ud S W PBIg I R T e |
el U JTghHIe SR UF # MEiRd
WM B AR a3 7 ford |

QRIeT YRThT Ud SR T &I TN
PN, Fife Al A aRRefT # (@aet qer

GRATDT H FHHI DT BIS DY) TN WRIET JREDT

Ud IR UF U el BRI SITEATT |

. e gRaeT H & TR wRier gRa®r RIS

BI Wl FEl e I So—u A ford |

. U8 S WR YA qRIerefi, et araNierd Bl

AT Y99 9o g |

. gD AT BeT D D [IUY AT B

T PIS Temet a1 e 7 B |

HRINT HeT RI&Th Bl YT IR T QU
o et oA e g s | e
forxft aRlemef 7 BIRN—3 IR ExdeR 78l
U O I8 HFT S0 &Y A SR TF TRl
Jlerr g 3R Ig SFfed | BT’
HET ST |

. UFIS [/ Selaeiiieh / geadiield URdbeld Bl

SYANT afofd 2 |

. TR Bfdd H MR & foru ulered} T

% w1 Al v fafEl grr R 2
% el vd el & rgaR 8nm |

10. 98T b IURIT 3nGefT ITR U=Ich el IIeTh

BT el ¢ | aNeid gIRT 3ngell &l SR
TG DI gt Uit ST BRIS SIQIT qe
T IWRIT B BeT PI BIST DI AR QI
SOl | SR U= &1 angelt ufd speft or
3O AT o S @ AR B |

1.8 & IWRIA el 1 wiem g

e TNIeTd BT eI BN | TRIET
BT GRSt I AT g of o Wb © |
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